[ Efficiency vs vertpos |

AU R RARERRRRRRRE | RRNRRRE LLLE LBV RRRE LAR

Ratio
P
=

ry
<+

1

10 0?
TP vertr (cr%)

_MKFIT_T1base

|_mkFit5_TT retrainOldFiles125_v2_prelimWP_epoch4
_mkFit_TT_baseline_6iter

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD

<4

DQ
DQ
Efficiend —— B3

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03

0.02F++eocfreetl doeveeecdonee ] e
O [ R S S X111

Vs

il |
¢ ket |-

™3P —=20 -10 0 10 20 30
TP vert z (cm)

Ratio

H
T

[ Efficiency vs. sim PV z |
~n 0.2
> S SO S R S T

L e A R prety A e
S o : : : : :
T A A
£0.04F b e
P E : : : : : :

€ 0.12F----rerenieeeees e prrerdeeeeed e preee
O b
0.08F -~ :
0.06F

0.04F

efticie

Ratio

R T 5 10 15 20
Sim. PV z (cm)



	Contents
	Page 1


